Operations on Fractions

Exercise-1
5+3 _ 8
-9 9
148 8 8 . ,
= 2774 _ 9 But-isnotin the lowest te
T T 1 12 .
8+4 2 .
=972 _ £ (HCFof8and12=4).
12+4 3 ( '
Wiz 2
| 12 3
7 5 21 10 £16 and 24 =48 |
(C) — o | R e o e I—LCMO d
16 24 48 = 48 7 _7x3 _2
_21+10 _ 31 16 16x3 48’
48 48 5 _5x2 _10
i igh Bwat | 24 24x2 48 |
16 24 48
5 1 SR CLCMof12and 4=12 |
ke B o 1ty
LA TR S e 5 _5x1_5
_5+3 _8 12 12x1 12’
= 12 100k 15 1%37+ 3

| 47 ax3 12
(HCF of 8 and 12 =4)

[ LCM of15and 6 =30 ]

11 _11x2 _ 22
15 ~15%x2"" 39
(1l _Ix5 5
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1, 2,2 3 .20 | _
— 4 = = 2V 2 "o _
(b) 12 9 i 36 36 b2 36 + 3 [ LCM of12,9,36 =36
3+ 20 L. 1x3 _ 3
=—-—-§6‘-i-2~ 12 12x3 36
- 5_5x4_20
= 25 9 9x4 36’
i 2 _2x1_2
Thus’ ..l.. + _5_ + _2_ iy gé - 36 36)’] 36 _J
12 9 36 36
(c) %— + %+-§—‘=‘ 12,10, 14 [LCMof7,21,6=42"]
42 42 " 42 2 _2x6 12
_12+10+14 7 7x6 42
= 5 _5x2 _10
36 ' 21 21x2 42’
£42 2=2X7=E
| 6 6x7 42 _
36 _ 36+6 6 -
Now, 5 = 452¢ ~ 7 (HCFof 36 and 42 = 6)
.2, 5,2 _6
T M. t6 . 7
3. @) 32,2.11 2 1142 13 1
3 3 3 3. &8
(b) 2§+1_:5_=E+_];Z:5_7+§é [ LCM of 8 and 12 =24
' _57+34 8 8x3 24’
24 17 _17x2 _ 34
91 .19 | 12 12x2 24
24 24
(c) 1—1~+31=;5-+12 [ LCMofd4and 6=12"
4 6 4 6 5_5x3_15
i 10, .08 4 ax3 12
o 1212 _ \ 19 _19x2 _ 38
15438 53 5 6.0 6x3: 12 0]
19012
 Exercise-2
B
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4
7 __11»‘7.—_:-——
b T T
14 =l
4 4+2 _ 2 (HCFof4and14=2)
B S
Now,ﬁ = 14+2 7
AR A
14 14 7 :
15 7 .15=7 . %
@ - u u A
8 8+8 _ l(HCFofBand24 8)
Now,-?:Z = 5428 3
15 7 _1
24 24 3
8 3 8-3 :
21 10 _21-10 _11 . 2 - L=2-3_5
© % B B 2 18 18 18 3
@ 16 _12_16-12_& @ 121D,
31 31 31 31 15 1 15
2. (a) i_l=—3‘—-122 1.CMofldand 7=14 ]
14 7 14 1_1x2 _ 2
=.§_;_2_=l. 7 7X2 14 _J
1 14
b 2_2-2-2 LCMof8and4=8 |
5-2"3 2.5 1_1x2 _2
o e e 8 8, = = =
8 8 Lo, 4 4)(2 8 _
Bur-d 6.1 2 -~
i 5 10 10 10 LCM of 5 and 10 = 10
- 64450 §=3x2=£
05510 LB %2 10
2 2+2 1 ‘
Now, = = £%< _ 1
3. 41 ~ |
, 5210 5
Ly 902 i
g =2 P T Memirs. :
: T ; 2 o " 6 .'6*x2=ﬁ _J
“E :.;.;.1n;n;eing-4 Term2) €A M _
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6 6 6 6

154-3

+3

“

N‘F’" cx

21«“
2

PR T - -
- S m e e = LCM of 7 and 6 =42
Oy 6 D a 6_6x6 _ 36
36 - 35 7 7x6 42’
e 5_5x7 _35
ks I L 6 6x7 42  _
42
11 3 _ 11 9
[} o i B R g A LCMof12and 4=12
® 5 2712 12 3 3x3. 9
J1=9 2 4 4x3 12
12 12
‘ .22 1
Now, 72" " 1222 & (HCF of 2 and 12 = 2)
12 4 6
1 1_ 8 6 - ]
1. 1_8 6 LCM =48
® 6 8718 1 1(_)f16>?§d_8£
_ 8-6 2 6 6x8 48’
~ 48 48 1_1x6 _ 6
: D9 1 | 8 8x6 48
Now, 18 482 2 (HCF of 2 and 48 = 2)
1 _s1¥e 1l
6 8 24
(). 2. 178 ~1 LCMof3and12=12 ]
3 12 12 12 2 2x4 8
_8-1 _. 7 3 3x4 12’
1 i 1o _ 1 _ 1x1 _ 1
shgalei12 12x1 120
@ 23_41_11 5 _11-5 6
4 "4 4 4 4 4
| 2822 3 11 (HCFof6anda-2)
‘ : 4+2 2 2
(b) 3:5._11_2.,&
_ 6 -3 -6 -3 LCMof6and3=6
.23 8 23-8 15 4.4x2_8

- HCF of 15 and 6 = 3)
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61 38 LCMof8and4=8
=3 B 19 _ 192 _ 38
_6] 38 4 4)’2 8
8
_2B_,7
8 8
(d) 5_1__22____7_(1__2 LCMof]5and5:]5
15 5 15 5 12 _12x3 _ 36
7636 5 B5x3 15
15 15
76 — 36
15
_40_40+5_8 (HCF of 40 and 15 =5)
15 15+5 3
_o2
3
Exercise-3
3_3X3___9__J._ _2_7 2X7____l-_%=4_%
L3x3 =72 =7 - % 3% 3 3 3
4 _3x4 _ 12 _ 52 4 §;5’<8=i19_4§
3.3xz =55 =5 =% Sy b S 9 ~ "9
7 8x7 _ 56 1 ' 4 10 40 4

5. 8x— = _ 20 _5 6.10x= = _ 2V _ 4=
8717 11 T =01 9 9 9
7 7x26 _ 182 §_15x8 _120 _40
T = .

7. 137 13 TEN ekl 7 STy 13
8 _7x8 _ 56 _ 8.92 10.2 3xEE 5 .3
7,8 - 7x8 _ 56 _ 8 _9% g0,2x5 = 222 = =2 =37

i e it e Bl R R TuT

6 10x6 _ 60 4 Exd

11, 05—~ = —= = == = 4 _ 6x4 _ 24 4

L 10x35 = 55~ = 15 = 126"5“‘“"‘5 “'—5*=4g

il Ao x4 B2 1721 d7%21 7

1'5;5[2-“?’4?,:1? 5.13x5 13 _,4

RG89 5x9 9 9

4

2. 2_8 5 8x5 4()
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17 15 17x15 85 5

g s ST b T i

2= %35 -
17. <% 6.4  bx4 B
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§ .2 17 12 _17x12 68
5

. ].;)(2».-:_:“.“_ P e
RLA 9 5 9x5 15 15
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alw
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. {a) 6+8=

(© =+15=cx—=c—=—0

RTINS

(d 77+—==77x—=——=21
3 1

© _]_§ 212 = 18 1 8 1

36 36 12 36 x 12 24
o Dumollylicllyl

4 4 55 4 x 55 20

i1~ 23 4 23 3 23x3 23 27

L s @ 32:1-=2242= 2= =

63 6 3 6 4 6x4 8 8
T

3 .4 35 25 35 7 35x7 49 9

(b) 42+3-="+Z=x
8 7 8 7 8 25 8><25 T 40 40
2 112 576 12 155 12x15 9

i R R PALlg o

© 20450 =5 1575 "7 5x76 19

Exercise-5
1. % and 1 are unlike fractions, so, we convert them into like fractions.

LCM of 5 and 2 = 10. _

_2_n__2><2___4_1_ }__1><5__5

5 5x2 10 957 B 710
5 4 5 4 5-4 1

is reater than — s T e
10 & 10,710+ 10 10510

Sonal bought--6 m longer rlbbon than Manu

2 iJyotl completed her ‘Maths homewark in hbur and Science
6

homework i m o= hour
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Total time taken by Jyoti -(%1—%) hour [LCM of 6 ang 10<
1-1x5 5 "3
5 9) 6 6x5 an
= =—+-=— hour 30’
10 10x3 733
=(§-i2) hour - 30 N
0
14
=30 hour
7
15 hour

Thus, Jyoti took —1—73 hour in all to complete her homework.

3. Total weight of the packets of snacks = ( 10 3) kg
10x 3 _3&)_ =6

5 5
<. Total weight of the packets of snacks is 6 kg. -

Now,10 x 3 =
*5

4, Totalquanhtyofmllk (4+2§+1%)£ rLCMof48 16 =16
5 S _5x4 _20
(_+_= J 1 1x4 16’
4 19 _19x2 _ 38
8 8x2 16
( )g K X 16 |

(20+38+25) 83
16°
5

3
16"

Hence, total quantity of milk with the milkmén is53 ¢
16

5. Costof 3—;- kg of apples= ¥ 246-2

-, Cost of 1 kg of apples= ¥ 246-2-'.4.- 31
‘ 2

987 7 _og
VAT +--?’~§—7-x..2.=?141 :
2 4 7o TR 70

| ; Thus the cost of 1 kg of applesis # 70 3
| 2
@ .

Mathematlcs-:t. (Term-2) i
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Review Exercise

5 5 5 5 "i"'7‘ - —-1-7 — -—ﬁ—. — 1_7.
(© 1%”%:%4‘%&%&6@ LCM of 2 and 3= 6
v 3_3x3 98 8x2 16
_9+16 25 1 2 2x3 6’3 3x2 6
6 6 6
, 9 .3_51 _10_51 20 ~14 7]
d 3=5-lg=S-FT==-= LCM of 14 and 7 = 14
14 7 14 7 14 14 10_10x2 20
T 14 14 14
f0) ke Az Lo - 8 [L.CM of 12 and 20 = 60]
® 12720 60 " 60 1_1x5 _ 5
| = 53 .. 2. 12 12x5 60’
60 60 1 _1x3 _3
| 20 20x3 60 |
= -316 (Dividing by 2 as it is HCF of 2 and 60)
w 0,1, 5.2 .6 15 LCM of 21,7,14 =427
21 70 7 4 T 400 A T AD 10 _ 10x2 _ 20
2046415 21 21x2 42
oD 1_1x6 _ 6
, 7 7x6 427
= % .| 5 _5x3 _15
| ‘ | 14 14x3 &2
15x3
15 15 5 5 , 5 5
5 48x5

2. Number of girls = 48 x SFTe T 30

- “~ Number of boys =48 -30=18

" T.hus, there are 18 boys in the class. i
‘ B2 32 1 2

Sy s jece=42m+16=""m+16=">x—m==
Length okeadhplee s Ao Ml R T g T

> ‘T:;},“usf_’théa length _of'vea'ch» piece is -;-m ot
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4. The other number = 7;; e ZZ 9 _9x2 1 \ﬂ
859 737y |
8§ 4 J

25 18 25-18 7

5 8 8

Thus, the other number is -8-

5. Total time spent by Mahi **(2’?:+‘—+i hours
. Lpenya1—\312 15
ke i 8 E 1 i hours
3 12 15
(160 25 16)
= —4+—+— |hours
L 60 60
(160 + 25+ 16
L hours
L 60
2
= 6i01 hours
67 7
i -2_0 hours = 3% hours
Thus, Mahi spends 3% hours in all.
HOTS
Total money spent on books and notebooks
=3 oy 3 of the money
T B 2 5
6 6 ©°fthe mone
= o S S Y e
-~ Money left= 1——3:“(5—“”6:“5:'1” Shia
bl g 7 6 6 the 'm()ney_

~ Now, % of the money =% 50
- Total money =% 50x6=% 300
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